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Growing Capabilties

length = width = area of a rectangle

4em

Counting squares:
area = 18cm*
Use formula:

beom * Icm

area = 18cm? Bcm = 4cm area = 32cm?

Scm
4em Lem fem
HScm A
Zocm
Scm + &em + Scm + 4cm (6+2)=2

Arca of Triangles

base = perpendicular height = 2 = area of

a triangle

Bcm = 3cm + 2

orea = 12em?®

perpendicular height = Sem

bom ® Scm = 2

aren = 15cm®

Counting squares: Using formula:
& whole zquares = 6cm? Gcm = Jom
& half squares = 3cm? + 2 = 9cm?

fom?® + 3cm® = 9em?

area = Gem?

perimeter = length + width + length +
width or (length + width) = 2

area = 18cm? area = 16cm?

Area of Parallelograms

base = perpendicular height = area of a parallelogram

A parallelogram can be transformed into a rectangle.

perpendicular height = 6cm 1Z2cm = Gom = T2cm?




